# Form and Periodicity of Solutions of Some Systems of Higher-Order Difference Equations 

Halim Yacine ${ }^{1,2, *}$<br>${ }^{1}$ Department of Mathematics and Computer Science, Mila University Center, Mila, Algeria,<br>${ }^{2}$ LMAM Laboratory, Mohamed Seddik Ben Yahia University, Jijel, Algeria.

Received: 26 Feb. 2015, Revised: 20 Oct. 2015, Accepted: 30 Oct. 2015
Published online: 1 Jan. 2016

Abstract: The paper deals with form and periodicity of solutions of the system

$$
\begin{equation*}
x_{n+1}=\frac{1}{1-y_{n-k}}, \quad y_{n+1}=\frac{1}{1-x_{n-k}}, \quad n, k \in \mathbb{N}_{0} \tag{1}
\end{equation*}
$$

where $\mathbb{N}_{0}=\mathbb{N} \cup\{0\}$ and the initial conditions $x_{-k}, x_{-k+1}, \ldots, x_{0}, y_{-k}, y_{-k+1}, \ldots, y_{0}$ are non zero real numbers.
Keywords: System of difference equations, general solution, periodicity.

## 1 Introduction

There has been a great interest in studying difference equations and systems. Solvable difference equations attract attention of mathematicians for a long time. Recently, there has been an increasing interest in the topic (see [1]-[15] and the related references therein). Difference equations usually describe the evolution of certain phenomena over the course of time. Indeed difference equations have been applied in several mathematical models in biology, economics, genetics, population dynamics, medicines and so forth.

In this paper and motivated by [2], we deal with the form of the solutions of the following systems of rational difference equations

$$
x_{n+1}=\frac{1}{1-y_{n-k}}, \quad y_{n+1}=\frac{1}{1-x_{n-k}}, \quad n, k \in \mathbb{N}_{0}
$$

where $\mathbb{N}_{0}=\mathbb{N} \cup\{0\}$ with arbitrary nonzero initial conditions.

## 2 Main result

We start-off this section by giving the periodicity of the solutions of the system (1).

### 2.1 Periodicity of the solutions

Theorem 1. Every solution $\left\{x_{n}, y_{n}\right\}_{n \geq-k}$ of system (1) is periodic of period $6 k+6$, that is

$$
x_{n+(6 k+6)}=x_{n}, \quad y_{n+(6 k+6)}=y_{n}
$$

where $n=-k,-k+1, \ldots$ for some natural number $k$.

Proof. We have

$$
\begin{aligned}
x_{n+(6 k+6)} & =\frac{1}{1-y_{n+5 k+5}}=\frac{1}{1-\frac{1}{1-x_{n+4 k+4}}} \\
& =\frac{-1+x_{n+4 k+4}}{x_{n+4 k+4}}=\frac{-1+\frac{1}{1-y_{n+3 k+3}}}{\frac{1}{1-y_{n+3 k+3}}} \\
& =y_{n+3 k+3}=\frac{1}{1-x_{n+2 k+2}} \\
& =\frac{1}{1-\frac{1}{1-y_{n+k+1}}}=\frac{-1+y_{n+k+1}}{y_{n+k+1}} \\
& =\frac{-1+\frac{1}{1-x_{n}}}{\frac{1}{1-x_{n}}}=x_{n} .
\end{aligned}
$$

[^0]Similarly, we have

$$
\begin{aligned}
y_{n+(6 k+6)} & =\frac{1}{1-x_{n+5 k+5}}=\frac{1}{1-\frac{1}{1-y_{n+4 k+4}}} \\
& =\frac{-1+y_{n+4 k+4}}{y_{n+4 k+4}}=\frac{-1+\frac{1}{1-x_{n+3 k+3}}}{\frac{1}{1-x_{n+3 k+3}}} \\
& =x_{n+3 k+3}=\frac{1}{1-y_{n+2 k+2}} \\
& =\frac{1}{1-\frac{1}{1-x_{n+k+1}}}=\frac{-1+x_{n+k+1}}{x_{n+k+1}} \\
& =\frac{-1+\frac{1}{1-y_{n}}}{\frac{1}{1-y_{n}}}=y_{n} .
\end{aligned}
$$

### 2.2 Form of the solutions

In the following theorem we give explicit formulas for the solutions of system (1).

Theorem 2. Let $\left\{x_{n}, y_{n}\right\}_{n \geq-k}$ be a solution of system (1). Then for $n=0,1, \ldots$, we have
$x_{6(k+1) n+i}=\frac{1}{1-y_{-k+i-1}}, \quad i=1, \ldots, k+1$,
$y_{6(k+1) n+i}=\frac{1}{1-x_{-k+i-1}}, \quad i=1, \ldots, k+1$,
$x_{6(k+1) n+i}=\frac{-1+x_{-k+i-1}}{x_{-k+i-1}}, \quad i=k+2, \ldots, 2 k+2$,
$y_{6(k+1) n+i}=\frac{-1+y_{-k+i-1}}{y_{-k+i-1}}, \quad i=k+2, \ldots, 2 k+2$,
$x_{6(k+1) n+i}=y_{-k+i-1}, \quad i=2 k+3, \ldots, 3 k+3$,
$y_{6(k+1) n+i}=x_{-k+i-1}, \quad i=2 k+3, \ldots, 3 k+3$,
$x_{6(k+1) n+i}=\frac{1}{1-x_{-k+i-1}}, \quad i=3 k+4, \ldots, 4 k+4$,
$y_{6(k+1) n+i}=\frac{1}{1-y_{-k+i-1}}, \quad i=3 k+4, \ldots, 4 k+4$,
$x_{6(k+1) n+i}=\frac{-1+y_{-k+i-1}}{y_{-k+i-1}}, \quad i=4 k+5, \ldots, 5 k+5$,
$y_{6(k+1) n+i}=\frac{-1+x_{-k+i-1}}{x_{-k+i-1}}, \quad i=4 k+5, \ldots, 5 k+5$,
$x_{6(k+1) n+i}=x_{-k+i-1}, \quad i=5 k+6, \ldots, 6 k+6$,
$y_{6(k+1) n+i}=y_{-k+i-1}, \quad i=5 k+6, \ldots, 6 k+6$,
where the initial values are arbitrary nonzero real numbers with $x_{-k}, x_{-k+1}, \ldots, x_{0} \neq 1$ and $y_{-k}, y_{-k+1}, \ldots, y_{0} \neq 1$.

Proof. 1) Let $n=0,1, \ldots, k$. We get from system (1)

$$
\begin{aligned}
x_{1} & =\frac{1}{1-y_{-k}}, \\
y_{1} & =\frac{1}{1-x_{-k}}, \\
x_{2} & =\frac{1}{1-y_{-k+1}}, \\
y_{2} & =\frac{1}{1-x_{-k+1}}, \\
& \vdots \\
x_{k+1} & =\frac{1}{1-y_{0}}, \\
y_{k+1} & =\frac{1}{1-x_{0}} .
\end{aligned}
$$

From Theorem (1) we get

$$
\begin{aligned}
x_{1} & =x_{6(k+1)+1}=x_{6(k+1) 2+1}=\cdots=\frac{1}{1-y_{-k}}, \\
y_{1} & =y_{6(k+1)+1}=y_{6(k+1) 2+1}=\cdots=\frac{1}{1-x_{-k}}, \\
x_{2} & =x_{6(k+1)+2}=x_{6(k+1) 2+2}=\cdots=\frac{1}{1-y_{-k+1}}, \\
y_{2} & =y_{6(k+1)+2}=y_{6(k+1) 2+2}=\cdots=\frac{1}{1-x_{-k+1}}, \\
& \vdots \\
x_{k+1} & =x_{6(k+1)+k+1}=x_{6(k+1) 2+k+1}=\cdots \frac{1}{1-y_{0}}, \\
y_{k+1} & =y_{6(k+1)+k+1}=y_{6(k+1) 2+k+1}=\cdots \frac{1}{1-x_{0}} .
\end{aligned}
$$

Hence we have the formulas (2) and (3).
2) Let $n=k+1, k+2, \ldots, 2 k+1$. From (1) we have
$x_{n+1}=\frac{1}{1-y_{(n-k-1)+1}}=\frac{1}{1-\frac{1}{1-x_{n-k-1-k}}}=\frac{-1+x_{n-2 k-1}}{x_{n-2 k-1}}$,
and
$y_{n+1}=\frac{1}{1-x_{(n-k-1)+1}}=\frac{1}{1-\frac{1}{1-y_{n-k-1-k}}}=\frac{-1+y_{n-2 k-1}}{y_{n-2 k-1}}$.

Now from (14) and (15), we get

$$
\begin{aligned}
x_{k+2} & =\frac{-1+x_{-k}}{x_{-k}}, \\
y_{k+2} & =\frac{-1+y_{-k}}{x_{-k}}, \\
x_{k+3} & =\frac{-1+x_{-k+1}}{x_{-k}}, \\
y_{k+3} & =\frac{-1+y_{-k}}{x_{-k+1}}, \\
& \vdots \\
x_{2 k+2} & =\frac{-1+x_{0}}{x_{0}}, \\
y_{2 k+2} & =\frac{-1+y_{0}}{x_{0}} .
\end{aligned}
$$

From Theorem (1), we get

$$
\begin{aligned}
& x_{k+2}=x_{6(k+1)+k+2}=x_{6(k+1) 2+k+2}=\cdots=\frac{-1+x_{-k}}{x_{-k}} \\
& y_{k+2}=y_{6(k+1)+k+2}=y_{6(k+1) 2+k+2}=\cdots=\frac{-1+x_{-k}}{x_{-k}} \\
& x_{k+3}= x_{6(k+1)+k+3}=x_{6(k+1) 2+k+3}=\cdots=\frac{-1+x_{-k+1}}{x_{-k+1}} \\
& y_{k+3}=y_{6(k+1)+k+3}=y_{6(k+1) 2+k+3}=\cdots=\frac{-1+x_{-k+1}}{x_{-k+1}} \\
& \vdots \\
& x_{2 k+2}= x_{6(k+1)+2 k+2}=x_{6(k+1) 2+2 k+2}=\cdots=\frac{-1+x_{0}}{x_{0}} \\
& y_{2 k+2}= y_{6(k+1)+2 k+2}=y_{6(k+1) 2+2 k+2}=\cdots=\frac{-1+y_{0}}{y_{0}}
\end{aligned}
$$

This complete the proof of formulas (4) and (5).
3) Let $n=2 k+2,2 k+3, \ldots, 3 k+2$. From (1), (14) and (15) we get

$$
\begin{equation*}
x_{n+1}=\frac{-1+\frac{1}{1-y_{n-2 k-2-k}}}{\frac{1}{1-y_{n-2 k-2-k}}}=\frac{\frac{y_{n-3 k-2}}{1-y_{n-3 k-2}}}{\frac{1}{1-y_{n-3 k-2}}}=y_{n-3 k-2} \tag{16}
\end{equation*}
$$

and

$$
\begin{equation*}
y_{n+1}=\frac{-1+\frac{1}{1-x_{n-2 k-2-k}}}{\frac{1}{1-x_{n-2 k-2-k}}}=\frac{\frac{x_{n-3 k-2}}{1-x_{n-3 k-2}}}{\frac{1}{1-x_{n-3 k-2}}}=x_{n-3 k-2} \tag{17}
\end{equation*}
$$

Using (16) and (17) we obtain

$$
\begin{aligned}
x_{2 k+3} & =y_{-k}, \\
y_{2 k+3} & =x_{-k}, \\
x_{2 k+4} & =y_{-k+1}, \\
y_{2 k+4} & =x_{-k+1}, \\
& \vdots \\
x_{3 k+3} & =y_{0}, \\
y_{3 k+3} & =x_{0} .
\end{aligned}
$$

Using the fact that $\left\{x_{n}\right\}$ and $\left\{y_{n}\right\}$ are periodic with period $6(k+1)$, we get formulas (6) and (7). That is
$x_{2 k+3}=x_{6(k+1)+2 k+3}=x_{6(k+1) 2+2 k+3}=\cdots=y_{-k}$,
$y_{2 k+3}=y_{6(k+1)+2 k+3}=y_{6(k+1) 2+2 k+3}=\cdots=x_{-k}$,
$x_{2 k+4}=x_{6(k+1)+2 k+4}=x_{6(k+1) 2+2 k+4}=\cdots=y_{-k+1}$,
$y_{2 k+4}=y_{6(k+1)+2 k+4}=y_{6(k+1) 2+2 k+4}=\cdots=x_{-k+1}$,
$x_{3 k+3}=x_{6(k+1)+3 k+3}=x_{6(k+1) 2+3 k+3}=\cdots=y_{0}$,
$y_{3 k+3}=y_{6(k+1)+3 k+3}=y_{6(k+1) 2+3 k+3}=\cdots=x_{0}$.
4) Let $n=3 k+3,3 k+4, \ldots, 4 k+3$. From (1), (16) and (17), we obtain

$$
\begin{equation*}
x_{n+1}=\frac{1}{1-x_{n-4 k-3}} \tag{18}
\end{equation*}
$$

and

$$
\begin{equation*}
y_{n+1}=\frac{1}{1-y_{n-4 k-3}} . \tag{19}
\end{equation*}
$$

Hence we have
$x_{3 k+4}=\frac{1}{1-x_{-k}}, y_{3 k+4}=\frac{1}{1-y_{-k}}$,
$x_{3 k+5}=\frac{1}{1-x_{-k+1}}, y_{3 k+5}=\frac{1}{1-y_{-k+1}}$,
$x_{4 k+4}=\frac{1}{1-x_{0}}, y_{4 k+4}=\frac{1}{1-y_{0}}$.
From Theorem (1) we get
$x_{3 k+4}=x_{6(k+1)+3 k+4}=x_{6(k+1) 2+3 k+4}=\cdots=\frac{1}{1-x_{-k}}$,
$y_{3 k+4}=y_{6(k+1)+3 k+4}=y_{6(k+1) 2+3 k+4}=\cdots=\frac{1}{1-y_{-k}}$,
$x_{3 k+5}=x_{6(k+1)+3 k+5}=x_{6(k+1) 2+3 k+5}=\cdots=\frac{1}{1-x_{-k+1}}$,
$y_{3 k+5}=y_{6(k+1)+3 k+5}=y_{6(k+1) 2+3 k+5}=\cdots=\frac{1}{1-y_{-k+1}}$,

$$
\vdots
$$

$x_{4 k+4}=x_{6(k+1)+4 k+4}=x_{6(k+1) 2+4 k+4}=\cdots=\frac{1}{1-x_{0}}$,
$y_{4 k+4}=y_{6(k+1)+4 k+4}=y_{6(k+1) 2+4 k+4}=\cdots=\frac{1}{1-y_{0}}$.
This complete the proof of formulas (8) and (9).
5) Let $n=4 k+4,4 k+5, \ldots, 5 k+4$. From (1), (18) and (19) we have

$$
\begin{equation*}
x_{n+1}=\frac{1}{1-\frac{1}{1-y_{n-4 k-4-k}}}=\frac{-1+y_{n-5 k-4}}{y_{n-5 k-4}} \tag{20}
\end{equation*}
$$

and

$$
\begin{equation*}
y_{n+1}=\frac{1}{1-\frac{1}{1-x_{n-4 k-4-k}}}=\frac{-1+x_{n-5 k-4}}{x_{n-5 k-4}} . \tag{21}
\end{equation*}
$$

So, it follows that
$x_{4 k+5}=\frac{-1}{1-y_{-k}}$,
$y_{4 k+5}=\frac{1}{1-x_{-k}}$,
$x_{4 k+6}=\frac{-1}{1-y_{-k+1}}$,
$y_{4 k+6}=\frac{1}{1-x_{-k+1}}$,
$x_{5 k+5}=\frac{1}{1-y_{0}}$,
$y_{5 k+5}=\frac{1}{1-x_{0}}$.
Using Theorem (1) we obtain formulas in (10) and (11), that is
$x_{4 k+5}=x_{6(k+1)+4 k+5}=x_{6(k+1) 2+4 k+5}=\cdots=\frac{-1}{1-y_{-k}}$,
$y_{4 k+5}=y_{6(k+1)+4 k+5}=y_{6(k+1) 2+4 k+5}=\cdots=\frac{1}{1-x_{-k}}$,
$x_{4 k+6}=x_{6(k+1)+4 k+6}=x_{6(k+1) 2+4 k+6}=\cdots=\frac{-1}{1-y_{-k}}$,
$y_{4 k+6}=y_{6(k+1)+4 k+6}=y_{6(k+1) 2+4 k+6}=\cdots=\frac{1}{1-x_{-k}}$,
$\vdots$
$x_{5 k+5}=x_{6(k+1)+5 k+5}=x_{6(k+1) 2+5 k+5}=\cdots=\frac{-1}{1-y_{-k}}$,
$y_{5 k+5}=y_{6(k+1)+5 k+5}=y_{6(k+1) 2+5 k+5}=\cdots=\frac{1}{1-x_{-k}}$.
6) Let $n=5 k+5,5 k+6, \ldots, 6 k+5$. From (1), (20) and (21) we get

$$
x_{n+1}=\frac{-1+\frac{1}{1-x_{n-6 k-5}}}{\frac{1}{1-x_{n-6 k-5}}}=\frac{\frac{x_{n-6 k-5}}{1-x_{n-6 k-5}}}{\frac{1}{1-x_{n-6 k-5}}}=x_{n-6 k-5}
$$

and

$$
y_{n+1}=\frac{-1+\frac{1}{1-y_{n-6 k-5}}}{\frac{1}{1-y_{n-6 k-5}}}=\frac{\frac{y_{n-6 k-5}}{1-y_{n-6 k-5}}}{\frac{1}{1-y_{n-6 k-5}}}=y_{n-6 k-5} .
$$

From this it follows that
$x_{5 k+6}=x_{-k}$,
$y_{5 k+6}=y_{-k}$,
$x_{5 k+7}=x_{-k+1}$,
$y_{5 k+7}=y_{-k+1}$,
$x_{6 k+6}=x_{0}$,
$y_{6 k+6}=y_{0}$.
Now by Theorem (1) we get
$x_{5 k+6}=x_{6(k+1)+5 k+6}=x_{6(k+1) 2+5 k+7}=\cdots=x_{-k}$,
$y_{5 k+6}=y_{6(k+1)+5 k+7}=y_{6(k+1) 2+5 k+7}=\cdots=y_{-k}$,
$x_{5 k+7}=x_{6(k+1)+5 k+7}=x_{6(k+1) 2+5 k+7}=\cdots=x_{-k}$,
$y_{5 k+7}=y_{6(k+1)+5 k+7}=y_{6(k+1) 2+5 k+7}=\cdots=y_{-k}$,
$x_{6 k+6}=x_{6(k+1)+6 k+6}=x_{6(k+1) 2+6 k+6}=\cdots=x_{0}$,
$y_{6 k+6}=y_{6(k+1)+6 k+6}=y_{6(k+1) 2+6 k+6}=\cdots=y_{0}$
which are formulas in (12) and (13). The proof of the theorem is complete.

Example 1. For confirming the results of this section, we consider the following numerical example. Let $k=4$ in system (1), then we obtain the system

$$
\begin{equation*}
x_{n+1}=\frac{1}{1-y_{n-4}}, \quad y_{n+1}=\frac{1}{1-x_{n-4}} . \tag{22}
\end{equation*}
$$

Assume $x_{-5}=1, x_{-4}=1.6, x_{-3}=3.4, x_{-2}=6.1, x_{-1}=$ $2, x_{0}=1.3, y_{-5}=0.7, y_{-4}=4.2, y_{-3}=0.3, y_{-2}=2.4$, $y_{-1}=0.2$ and $y_{0}=5$. (See Fig. (1)).


Fig. 1: This figure shows the periodicity of the solutions of system (22)

### 2.3 Other systems

Corollary 1. Let $\left\{x_{n}, y_{n}\right\}_{n \geq-k}$ be a solution of system

$$
x_{n+1}=\frac{1}{1+y_{n-k}}, \quad y_{n+1}=\frac{1}{-1+x_{n-k}}, \quad n, k \in \mathbb{N}_{0}
$$

where $\mathbb{N}_{0}=\mathbb{N} \cup\{0\}$ and the initial values are arbitrary nonzero real numbers with $x_{-k}, x_{-k+1}, \ldots, x_{0} \neq 1$ and $y_{-k}, y_{-k+1}, \ldots, y_{0} \neq-1$. Then for $n=0,1, \ldots$, we have

$$
\begin{array}{ll}
x_{6(k+1) n+i}=\frac{1}{1+y_{-k+i-1}}, & i=1, \ldots, k+1 . \\
y_{6(k+1) n+i}=\frac{1-x_{-k+i-1}}{1-1}, & i=1, \ldots, k+1 . \\
x_{6(k+1) n+i}=\frac{-1+x_{-k+i-1}}{x_{-k+i-1}}, & i=k+2, \ldots, 2 k+2 . \\
y_{6(k+1) n+i}=\frac{1+y_{-k+i-1}}{y_{-k+i-1}}, & i=k+2, \ldots, 2 k+2 . \\
x_{6(k+1) n+i}=-y_{-k+i-1}, & i=2 k+3, \ldots, 3 k+3 . \\
y_{6(k+1) n+i}=x_{-k+i-1}, & i=2 k+3, \ldots, 3 k+3 . \\
x_{6(k+1) n+i}=\frac{1}{1-x_{-k+i-1}}, & i=3 k+4, \ldots, 4 k+4 . \\
y_{6(k+1) n+i}=\frac{1}{1+y_{-k+i-1}}, & i=3 k+4, \ldots, 4 k+4 . \\
x_{6(k+1) n+i}=\frac{1+y_{-k+i-1}}{y_{-k+i-1}}, & i=4 k+5, \ldots, 5 k+5 . \\
y_{6(k+1) n+i}=\frac{-1+x_{-k+i-1}}{x_{-k+i-1}}, & i=4 k+5, \ldots, 5 k+5 . \\
x_{6(k+1) n+i}=x_{-k+i-1}, & i=5 k+6, \ldots, 6 k+6 . \\
y_{6(k+1) n+i}=-y_{-k+i-1}, & i=5 k+6, \ldots, 6 k+6 .
\end{array}
$$

Proof. It follows from Theorem (2) by replacing $y_{n}$ by $-y_{n}$.
Corollary 2. Let $\left\{x_{n}, y_{n}\right\}_{n \geq-k}$ be a solution of system

$$
x_{n+1}=\frac{1}{-1+y_{n-k}}, \quad y_{n+1}=\frac{1}{1+x_{n-k}}, \quad n, k \in \mathbb{N}_{0}
$$

where $\mathbb{N}_{0}=\mathbb{N} \cup\{0\}$ and the initial values are arbitrary nonzero real numbers with $x_{-k}, x_{-k+1}, \ldots, x_{0} \neq-1$ and $y_{-k}, y_{-k+1}, \ldots, y_{0} \neq 1$. Then for $n=0,1, \ldots$, we have

$$
\begin{array}{ll}
x_{6(k+1) n+i}=\frac{1}{1-y_{-k+i-1}}, & i=1, \ldots, k+1 . \\
y_{6(k+1) n+i}=\frac{1}{1+x_{-k+i-1}}, & i=1, \ldots, k+1 . \\
x_{6(k+1) n+i}=\frac{1+x_{-k+i-1}}{x_{-k+i-1}}, & i=k+2, \ldots, 2 k+2 . \\
y_{6(k+1) n+i}=\frac{-1+y_{-k+i-1}}{y_{-k+i-1}}, & i=k+2, \ldots, 2 k+2 . \\
x_{6(k+1) n+i}=y_{-k+i-1}, & i=2 k+3, \ldots, 3 k+3 . \\
y_{6(k+1) n+i}=-x_{-k+i-1}, & i=2 k+3, \ldots, 3 k+3 . \\
x_{6(k+1) n+i}=\frac{1}{1+x_{-k+i-1}}, & i=3 k+4, \ldots, 4 k+4 . \\
y_{6(k+1) n+i}=\frac{1}{1-y_{-k+i-1}}, & i=3 k+4, \ldots, 4 k+4 . \\
x_{6(k+1) n+i}=\frac{-1+y_{-k+i-1}}{y_{-k+i-1}}, & i=4 k+5, \ldots, 5 k+5 . \\
y_{6(k+1) n+i}=\frac{1+x_{-k+i-1}}{x_{-k+i-1}}, & i=4 k+5, \ldots, 5 k+5 . \\
x_{6(k+1) n+i}=-x_{-k+i-1}, & i=5 k+6, \ldots, 6 k+6 . \\
y_{6(k+1) n+i}=y_{-k+i-1}, & i=5 k+6, \ldots, 6 k+6 .
\end{array}
$$

Proof. It follows from Theorem (2) by replacing $x_{n}$ by $-x_{n}$.
Corollary 3. Let $\left\{x_{n}, y_{n}\right\}_{n \geq-k}$ be a solution of system

$$
x_{n+1}=\frac{1}{-1-y_{n-k}}, \quad y_{n+1}=\frac{1}{-1-x_{n-k}}, \quad n, k \in \mathbb{N}_{0}
$$

where $\mathbb{N}_{0}=\mathbb{N} \cup\{0\}$ and the initial values are arbitrary nonzero real numbers with $x_{-k}, y_{-k}, x_{-k+1}, y_{-k+1}, \ldots, x_{0}$, $y_{0} \neq-1$. Then for $n=0,1, \ldots$, we have $\begin{array}{ll}x_{6(k+1) n+i}=\frac{1}{1+y_{-k+i-1}}, & i=1, \ldots, k+1 . \\ y_{6(k+1) n+i}=\frac{1}{1+x_{-k+i-1}}, & i=1, \ldots, k+1 .\end{array}$
$x_{6(k+1) n+i}=\frac{1+x_{-k+i-1}}{x_{-k+i-1}}, \quad i=k+2, \ldots, 2 k+2$.
$y_{6(k+1) n+i}=\frac{1+y_{-k+i-1}}{y_{-k+i-1}}, \quad i=k+2, \ldots, 2 k+2$.
$x_{6(k+1) n+i}=-y_{-k+i-1}, \quad i=2 k+3, \ldots, 3 k+3$.
$y_{6(k+1) n+i}=-x_{-k+i-1}, \quad i=2 k+3, \ldots, 3 k+3$.
$\begin{array}{ll}x_{6(k+1) n+i}=\frac{1}{1+x_{-k+i-1}}, & i=3 k+4, \ldots, 4 k+4 . \\ y_{6(k+1) n+i}=\frac{1}{1+y_{-k+i-1}}, \quad i=3 k+4, \ldots, 4 k+4 .\end{array}$
$x_{6(k+1) n+i}=\frac{1+y_{-k+i-1}}{y_{-k+i-1}}, \quad i=4 k+5, \ldots, 5 k+5$.
$y_{6(k+1) n+i}=\frac{1+x_{-k+i-1}}{x_{-k+i-1}}, \quad i=4 k+5, \ldots, 5 k+5$.
$x_{6(k+1) n+i}=-x_{-k+i-1}, \quad i=5 k+6, \ldots, 6 k+6$.
$y_{6(k+1) n+i}=-y_{-k+i-1}, \quad i=5 k+6, \ldots, 6 k+6$.
Proof. It follows from Theorem (2) by replacing $x_{n}$ by $-x_{n}$ and $y_{n}$ by $-y_{n}$.

## 3 Conclusion

In this study, we mainly prove the periodicity and we obtained the forme of the solutions of the system of difference equations (1). The results in this paper can be extended to the following system of difference equations

$$
x_{n+1}=\frac{\alpha}{\beta-\gamma y_{n-k}}, \quad y_{n+1}=\frac{\alpha}{\beta-\gamma x_{n-k}}, \quad n, k \in \mathbb{N}_{0}
$$

where $\mathbb{N}_{0}=\mathbb{N} \cup\{0\}$ and the initial conditions $x_{-k}$, $x_{-k+1}, \ldots, x_{0}, y_{-k}, y_{-k+1}, \ldots, y_{0}$, and $\alpha, \beta, \gamma$ are non zero real numbers.

## References

[1] Q. Din, M. Qureshi and A. Q. Khan, Dynamics of a fourthorder system of rational difference equations, Advances in Difference Equations, (2012), Article ID 215, 15 pages.
[2] Y. Halim, Global character of systems of rational difference equations, Electronic Journal of Mathematical Analysis and Applications, 3(1) 2015, 204-214.
[3] E. M. Elsayed, On the solutions of higher order rational system of recursive sequences, Mathematica Balkanica, 21 (2008), 287-296.
[4] E. M. Elsayed, M. Mansour and M. M. El-Dessoky, Solutions of fractional systems of difference equations, Ars Combinatoria, 110 (2013), 469-479.
[5] T. F. Ibrahim, Closed form solution of a symmetric competitive system of rational difference equations, Studies in Mathematical Sciences, 5 (2012), 49-57.
[6] T. F. Ibrahim, Periodicity and solution of rational recurrence relation of order six, Applied Mathematics, 3 (2012), 729733.

[7] A. S. Kurbanli, On the behavior of solutions of the system of rational difference equations $x_{n+1}=\frac{x_{n-1}}{x_{n-1} y_{n}-1}, y_{n+1}=$ $\frac{y_{n-1}}{y_{n-1} x_{n}-1}$, World Applied Sciences Journal, 10 (2010), 1344| 1350. |
| :--- |
| 13 |

[8] J. F. T. Rabago, On second-order linear recurrent homogenous differential equations with periode $k$, Hacettepe Journal of Mathematics and Statistics, 43(6) (2014), 923-933.
[9] D. T. Tollu , Y. Yazlik and N. Taskara, On the solutions of two special types of Riccati difference equation via Fibonacci numbers, Advances in Difference Equations, (2013), Article ID 174, 7 pages.
[10] N. Touafek and E. M. Elsayed, On the solutions of systems of rational difference equations, Mathematical and Computer Modelling, 55 (2012), 1987-1997.
[11] N. Touafek and E. M. Elsayed, On the periodicity of some systems of nonlinear difference equations, Bulletin Mathématique de la Société des Sciences Mathématiques de Roumanie, 55 (103) (2012), 217-224.
[12] N. Touafek and Y. Halim, Global attractivity of a rational difference equation, Mathematical Sciences Letters, 2 (2013), 161-165.
[13] N. Touafek and Y. Halim, On max type difference equations: expressions of solutions, International Journal of Nonlinear Science, 11(4)(2011), 396-402.
[14] I. Yalçınkaya, On the global asymptotic behavior of a system of two nonlinear difference equations, ARS Combinatoria, 95 (2010), 151-159.
[15] Y. Yazlik, D. T. Tollu and N. Taskara, On the solutions of difference equation systems with Padovan numbers, Applied Mathematics, 4 (12A) (2013), 15-20.


| $\quad$ Yacine | Halim | is |
| :--- | :---: | ---: |
| Associate | Professor | of |
| Mathematics at | Mila |  |
| University | Center. | He |
| is going to defend her |  |  |


[^0]:    * Corresponding author e-mail: halyacine@ yahoo.fr

